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B. Sc. 4th Semester New Scheme Examination,
May - 2016

CHEMISTRY
Paper- CH-206 P-I11.
Organic Chemistry

Time allowed : 3 hours ] [Maximum marks : 29

Note : Attempt five questions in all, selecting one question
Jrom each section. Question No. 1is compulsory.

qle: g% @9 § OF g g g9 %o e 9eT @

g7 . 1 o7fard 2
Unit-J
-1
1. (a) Whatis the advantages of Finger print region in
LR. spectroscopy ? I1x5=5

LR. @grepdt & R fife &9 $ e ®r ¥ ? 1x5=5

-\/Cb)/ Which type of amines are prepared in Gabriel
Phthalimide reaction ?

Mot Sefimss orfviiesn & Rem W & arrel o R
B & ?

(c) Write a reaction in which benzenediazonium
chloride act as electrophile.

% arftina e R il et FanmEs R
AT & T F FA Bt B

(d) Define Popoffs rule with example.
Ui & Fram @ SREI A uRei St
92203-P-8-Q-9-(16) PTO.
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Why Friedel craft alkylation in aniline gives poor
yield ?

PISW HE CehRaa § UTN oY ST Y ST § 7

Section-I
gus-1
How can you differentiate in between following
using IR spectra : 3,3
(i) Formic acid and Formate anion
(ii) Propanal and Acetone
(11i) Propyne and Benzoic acid

IR ST % 3760 F49 §¢ Frianad & @9 ony e
TR ST b € 3,3
(i) it oFd e e womae

(ii) S9ET qer oREN .

(iii) 99Es qur g v

Define :

(i) Fermi resonance

(ity Overtone 4

(iii) Fundamental vibration

g Hif -

(i) i R

(il) ohaEm

(iii) MRwF o

Calculate the number of fundamental vibration
modes in : 3,3
(i) CH, (i) CO, (i) CH, -
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(b)
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Prer & Aifers &7 R @ g @ o Fif : 3,3
(i) CH, (i) CO, (iii) CH,
Give the value of characteristic IR frequency of :
() Cs=Ostretchinginmethanal
(ii) C=Ostretching in carboxylic acid
(iii) O-H stretching in phenol
Frfafaa @ s R sy &1 9 i
(i) Ay 7 C= O Re=m
(i) FEER o= § C=0 R
(iii) wF § O-H Re=ma

Section-II /

gus-1I

wExplajn the following : 222

(i) Gabriel Phthalimide reaction

(i1) Carbylamine reaction

Fr=fofaa &t =ren fif -

@) b Afemms sifle

(i) FEEATHE APERE 2,2,2

Explain the following :

(i) Chemical test to differentiate in between
Methylamine and dimethylamine

'___——_.——
(ii) Friedel craft reaction of Aniline gives poor
yield.

PTO.
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fFr=ifvfas #t = Fivm -

(i) P qm sERRT omET @ @9 § oy
B B T TEERE g

(i) ofrefe % 7 #oe o o SR 36 2
Explain the basicity order among :
Mphatic amine and aromatic amine

(ii) Pyridine and piperidine,

F=1 & e & e w9 % =men i -

(i) oferbfess omreT T QR o

(ii) Tl o gwhdm

How will you bring about the following
conversion : - 2,2,2

(i) Ethanamide into methanamine

(ii) Ethanamide into ethanamine

(iii} Methanamine into methylisocyanide
(iv) Ethanamine into Ethanol.

Y Friofen wwian 39 S8

(i) uwEmHES S AuEEET §

(il) vuFMEE F vuEAEES

(iii) HUFTIET 9 fremw sRdarERS §

(iv) ToFAMES @ v §
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(b} Complete the following reactions :
(i) CGHSCONH2+ Br,/KOH -
(i) CH,NH+CHCL/KOH (alc.) —
(iii) C,H,CONH + Na/Cz'HSOH -
(iv) CH,CH)NH,+ HNO, -
Pt siPiReaielt g7 B -
(1) CH,CONH,+ Br,/KOH —
(i) CH,NH,+ CHCL /KOH (s/dm) —
(iii) C;H,CONH_+Na/ CHOH —
(iv) CH,CHNH,+ HNO, -
(c) Explain the following :
(i) Ortho effect
(it} Basicity constant (Kb)
' Frifiier ) e R :
| (i) I o
" (ii) &rderar Ratis (Kb)
Section-II

f. . —

f gug-111 :
6. Explain the mechanism of diazotization

reaction. _ 3.3
ST SAFATRAT 3 FrEomeht o) e /i |

3.3
92203 PT.O.



(6) 92203

Mp]ain the factors affecting the rate of
diazotization reaction in between benzene-

diazonium chloride and aniline.

g7 sy s qur ol R f= o
SRS AP B e B IR T 9 SRE

= reg] g |
7. What will happen when benzenediazonium chloride
reacts with : 6
(1)  Cu/HC/ (ii) CuCl/HCI
(iii) HBF /Heat (iv) H,PO,/Cu*
(v) Phenol (vi) N-methylaniline
41 B 59 AFTSETSIAY FNge PR & o STRRear B
g 6
(1) CuwHC/ (ii) CuCl!/HC!
(iii) HBF /s (iv) H,PO,/Cu*
(v) @G (vi) N-PrurEe o
Section-1V L/‘
Hug-IV

8. (a) Give chemical test to differentiate in between :

1,2,1,1,1

(i) Methanal and propanone

(ii) Pentan-2-one and pentan-3-one

M % o ek &0 3 Rig el o S
1,2,1,1,1

(i) [YFE T NIEA

(1) Te-2-a9 T Ye-3-a4

92203
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(b) Explain the mechanism of following reactions :
(i) CH,CHO+NaOH (dil.) -
(i) CH,CHO+CH,CHO +NaOH (dil.) =
Pl sifeparedl #1 FrEyoml  GHEST
(1) CHCHO+NaOH (@j) —
(i) CH,CHO+CH,CHO +NaOH (ag) —

(c) What will happen when CH,CHO reacts with
Ethylene glycol in slight acidic medium ?
w1 &1 7@ CH,CHO & i mem & g
THEFE B A R H § 7

(d) What will happen when Ethanal reacts with
NH,NH,/KOH ?

T 8 s/ NH,NH,/KOH 39Tt % 6T SAiiepar S
g7

(¢) Why aldehydes are more reactive than ketones
towards nucleophilic addition reatction ?

GRRTIEE o e & ST Picl Sl STET
ufesigH ot iR @ & § ?

prlain the mechanism of : 2,1,1,2

(j)/ Benzoin condensation
'(ii) Wittig reaction
Frrfefaa =1 o @l e i 2.1,1,2
(i) I do
(i) R e
92203 PTO.
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\_9«!/ Which of the following compounds will undergo

Aldol condensation or Cannizzaro reaction (with

reasoning) :
(i) HCHO (i) CH,CHO
Freaff dife 3 @ HF-41 CwEie JUT e SR
S T (o ) -
{y HCHO (i) CH,CHO
(c)/ Which of the following compounds will undergo

Haloform reaction or not (with reasoning) :

() HCHO (i) CH,CHO

Pl difwet & & Pre-ar Sared iR ST e
T (7% i) ¢

() HCHO (i) CH,CHO

(d) ~"An organic compound with the molecular formula
C,H,,O forms 2,4-DNP derivative, reduces
Tollen’s reagent and undergoes Cannizzare—
reaction. On vigorous oxidation, it gives
1,2-dicarboxylic acid, Identify the compound.
s @ C,H, O w1 @ Fh 2 2,4-DNP
FEER g B, AW e W R R @
T HQ T Frar B el SRS W T

1,2-seeiie o aar 2 | Af @ geEr $ifn)
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